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 LSE-07  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2022 

 

LIFE SCIENCE 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 hours Maximum Marks : 50 

Note :  Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 6. Attempt five 

questions in all. All questions carry equal marks. 

 

1. (a) Fill in the blanks :    41=4 

(i) __________ are places where the killing 

and capturing of any animal is prohibited. 

(ii) __________ is the founder of the first 

botanical garden. 

(iii) Mousterian tool industry belonged to the 

primitive men named __________ .  

(iv) The number and structure of the 

chromosomes at metaphase can be 

diagrammatically represented by 

___________ .   
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(b) Choose the correct answer from alternatives 

given in brackets :  41=4 

(i) The origin of Homo sapiens from Homo 

erectus is known to have occurred during 

late __________ . (miocene/middle 

pleistocene) times.  

(ii) ________ (Natural/Cladistic) classification 

is exclusively based on phylogenetic 

branching. 

(iii) Flora of Delhi has been compiled by 

__________ . (C.R. Babu/J.K. Maheshwari) 

(iv) The subspecies of an animal is known. Its 

scientific name shall be __________ . 

(Binomial/Trinomial) 

(c) Match the items in Column A with those 

given in Column B : 2 

 Column A  Column B 

(i) Hair   a. Measure of 

   selection pressure   

(ii) Selection   b. Moulds filled with 

 coefficient  various substances   

(iii) Cast fossil  c. Secundus    

(iv) Historia d. Mammals 

 naturalis    
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2. (a) Differentiate between the following pairs of 

terms : 22
2

1
=5 

(i) Analogous and Homologous organs 

(ii) Alpha taxonomy and Beta taxonomy 

(b) Write short notes on any two of the  

following : 22
2

1
=5 

(i) Taxonomic hierarchy 

(ii) Botanical Garden 

(iii) Neo-Darwinism 

3. With help of an example of host-parasite 

relationship, explain the concept of coevolution. 10 

4. (a) Draw a table for Whittaker’s Five-Kingdom 

classification. 5 

(b) Why is it necessary to classify plants and 

animals ?  5 

5. (a) Describe the formation of species by 

sympatric speciation. How is it different 

from geographic speciation ?    5 

(b) Differentiate between any two of the 

following pairs of terms : 22
2

1
=5 

(i) Biological evolution and Cultural 

evolution 

(ii) Binary coding and Multi-state coding 

(iii) Monograph and Manuals 
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6. (a) What are the different units of 

classification ? Discuss any two of them 

with the help of an example.   5 

(b) What is chemotaxonomy ? How is it different 

from cytotaxonomy ?  5  
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 Eb.Eg.B©.-07  

 {dkmZ ñZmVH$ (~r.Eg gr.) 

gÌm§V narjm 

OyZ,  2022 

Ord {dkmZ 

Eb.Eg.B©.-07 : d{J©H$s VWm {dH$mg 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> : àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 6 _| go {H$Ýht Mma 
àíZm| Ho$ CÎma Xr{OE & Hw$b nm±M àíZm| Ho$ CÎma Xr{OE & g^r 
àíZm| Ho$ A§H$ g_mZ h¢ & 

  

1. (H$) [aº$ ñWmZm| H$s ny{V© H$s{OE :  41=4 

(i) __________ ñWmZm| _| {H$Ýht OmZdam| H$mo 
_maZm Am¡a nH$‹S>Zm d{O©V h¡ & 

(ii) àW_ dmZñn{VH$ CÚmZ H$m g§ñWmnH$ 
___________ h¡ & 

(iii) ___________ Am{X _mZd AnZo _mCñQ>o[a`Z 
Am¡µOma CÚmoJ Ho$ {bE OmZo OmVo h¢ & 

(iv) _oQ>m\o$µO _| H«$mo_mogmo_m| H$s g§»`m Ed§ CZH$s 
ñdê$n ì`dñWm (g§aMZm) H$mo _________ 

Ûmam AmaoIr` ê$n _| Xem©`m Om gH$Vm h¡ & 
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(I) H$moð>H$m| _| {XE hþE {dH$ënm| go ghr CÎma H$m M`Z 

H$s{OE :  41=4 

(i) hmo_mo BaoŠQ>g go hmo_mo go{n`§g H$m CX²^d 

__________ (_m`mogrZ/ßbrñQ>mogrZ Ho$ _Ü`) 

`wJ Ho$ A§{V_ Xm¡a _| hþAm hmoJm & 

(ii) ___________ (àmH¥${VH$/g§emIr`) dJuH$aU 

{d{eï> ê$n go Ho$db Om{Vd¥Îmr` emIZ na 

AmYm[aV h¡ & 

(iii) {Xëbr H$s dZñn{V OmV H$m g§J«hU _______ 

(gr.Ama. ~m~y / Oo.Ho$. _mhoídar) Zo {H$`m  

h¡ & 

(iv) OmZda H$s CnOm{V kmV h¡, Vmo BgH$m d¡km{ZH$ 

Zm_ _________ ({ÛnXZm_/{ÌnXZm_) hmoJm & 

(J) H$m°b_ H$ Ho$ A§VJ©V Xr JB© _Xm| H$m H$m°b_ I Ho$ 

A§VJ©V Xr JB© _Xm| Ho$ gmW {_bmZ H$s{OE : 2 

 H$m°b_ H$$  H$m°b_ I  

(i) ~mb>  A. daU Xm~ H$m  
   _mn h¡ 

(ii) daU JwUm§H$ ~. {d{^Þ nXmWm] go  
   ^am hþAm Im±Mm 

(iii) H$mñQ> Ordmí_ g. {gH§$S>g  

(iv) {hñQ>mo[a`m Z¡Mwa¡{bg X. ñVZYmar$  
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2. (H$) {ZåZ{b{IV eãX `w½_m| _| AÝVa ñnï> H$s{OE : 22
2

1
=5 

(i)   g_d¥{Îm A§J Am¡a g_OmV A§J  

(ii)  Aë\$m d{J©H$s Am¡a ~rQ>m d{J©H$s 

(I) {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{já {Q>ßn{U`m± 
{b{IE :  22

2

1
=5 

(i)   d{J©H$s` nXmZwH«$_ 

(ii)  dmZñn{VH$ CÚmZ 

(iii)  Zd-S>m{d©ZdmX 

3. gh{dH$mg H$s g§H$ënZm H$mo nanmofr-naOrdr g§~§Y Ho$ 
CXmhaU H$s ghm`Vm go g_PmBE & 10 

4. (H$) {ˆQ>oH$a Ho$ nm±M OJV Ho$ dJuH$aU H$s Vm{bH$m H$mo 
Xem©BE &    5 

(I) nm¡Ym| Am¡a Ordm| H$m dJuH$aU Š`m| Amdí`H$ h¡ ?   5 

5. (H$) g_ñWm{ZH$ Om{V CX²^dZ go Om{V Ho$ CX²J_ H$m 
dU©Z H$s{OE & `h ^m¡Jmo{bH$ Om{V CX²^dZ go 
{H$g àH$ma go {^Þ h¡ ?    5 

(I) {ZåZ{b{IV eãX `w½_m| _| go {H$Ýht Xmo  _| AÝVa ñnï> 
H$s{OE :  22

2

1
=5 

(i)   O¡{dH$ {dH$mg Am¡a g§ñH¥${V H$m {dH$mg 

(ii)  {Û-AmYmar Hy$Q>boIZ Am¡a ~hþXem Hy$Q>boIZ 

(iii)  _moZmoJ«m\$ Am¡a _¡ZwAëg 
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6. (H$) dJuH$aU H$s {d{^Þ BH$mB`m± H$m¡Z-gr h¢ ? BZ_| go 
{H$Ýht Xmo BH$mB`m| H$s CXmhaUm| H$s ghm`Vm go 
{ddoMZm H$s{OE &     5 

(I) agm`Zd{J©H$s Š`m h¡ ? `h H$mo{eH$md{J©H$s go {H$g 

àH$ma {^Þ h¡ ?  5 


